

BID BULLETIN 01

Date: 01 December 2021

Project Title: Supply and Delivery of Construction Supplies (GOODS-22-06)

Location: VSU Main, Visca, Baybay City, Leyte

Bidders are hereby informed/reminded of the following addendums/amendments/clarifications:

I. LIST OF REQUIREMENTS

(1st Envelope) TECHNICAL COMPONENT ENVELOPE					
PhilGEPS Certificate of Registration (Platinum)					
or					
a. Registration Certificate (SEC, DTI or CDA)					
b. Mayor's/Business Permit					
c. Tax Clearance					
Statement of All On-Going Government & Private Contracts					
Statement of Bidder's Single Largest Completed Contract (at least 25% of the ABC or Php 836,086.75)					
Or					
Statement of at least two (2) similar completed contracts w/ total amount of at least Php 836,086.75 and the largest of which should be at least PhP 418,043.38 .					
Bid Security					
Technical Specifications					
SCHEDULE of Requirements/Production and delivery schedule					
Manpower Requirements					
After Sales service/parts from acceptance of delivered goods (at least 1 year for equipment)					
Original Duly Signed Omnibus Sworn Statement					
The Supplier's Audited Financial Statements					
Net Financial Contracting Capacity (at least Php 3,344,347.00)					
Or					
Committed Line of Credit (at least Php 334,434.70)					
L COMPONENT ENVELOPE					
Original of duly signed and accomplished Financial Bid Form					
Original of duly signed and accomplished Price Schedule(s)					



In the **Technical Specifications**, bidders must state either "Comply" or "Not Comply" <u>against each of the individual parameters of the specifications</u> per item stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in the **Bidders Bid** and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature (**Data Sheets**), unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data, and Brand and Model as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidders statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the provisions of **ITB** Clause 3.1(a)(ii) and/or **GCC** Clause 2.1 (a)(ii).

II. Preparation of Electronic Bid (for bidders who prefer electronic bid submission)

- 1. Convert all documents into Portable Document Format (PDF) and should be printable.
- 2. Properly label all documents for prompt identification. Filename of documents, whichever are applicable to the bidder, should be as follows:

	Document	Filename (in PDF form)
1.	PhilGEPS Certificate of Registration	PhilGEPS
	(Platinum)	
2.	Registration Certificate (SEC/DTI)	Registration Certificate
3.	Mayor's/Business Permit	Mayor's-Business Permit
4.	Tax Clearance	Tax Clearance
5.	Statement of On-Going Government	Statement of On-Going
	& Private Contracts	Contracts
6.	Statement of Bidder's Single Largest	SLCC
	Completed Contract	
7.	Statement of at least two (2) similar	Statement of Completed
	completed contracts	Contracts
8.	Bid Security	Bid Security
9.	Technical Specifications	Technical Specifications
10.	SCHEDULE of	Schedule of Requirements
	Requirements/Production and	
	delivery schedule	
11.	Manpower Requirements	Manpower Requirements
12.	After Sales service/parts	After Sales
13.	Omnibus Sworn Statement	Omnibus Sworn Statement
14.	Audited Financial Statements	Audited Financial Statements
15.	Net Financial Contracting Capacity	NFCC
16.	Committed Line of Credit	CLC
17.	Bid Form	Bid Form
18.	Price Schedule	Price Schedule

3. Create two (2) folders that are password-protected. The first folder should contain all requirements under Technical Component checklist as presented under Section VIII.

The second folder should contain all requirements under Financial Component checklist.



- 4. Compress the two (2) folders and name as follows: a) first folder: **Technical Documents**, b) second folder: **Financial Documents**.
- 5. Email the 2 compressed folders to Ms. Jessamine C. Ecleo at <u>jessamine.ecleo@vsu.edu.ph</u> before the deadline.

III. Changes in the Bidding Documents

Original	
Section I. Invitation to Bid	(Amendment)
6. A complete set of Bidding Documents may be acquired by interested Bidders on 18 November-09 December 2021 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means.	A complete set of Bidding Documents may be acquired by interested Bidders on 18 November-09 December 2021 until 8:30 AM from the given address and website(s) below and upon payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand Pesos (PhP 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means: The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person, by facsimile, or through electronic means. The Bidders may deposit the payment for the bidding documents to the Visayas State University Landbank Account with the following
11. This procurement project is part of the early procurement activities (EPA) of VSU for 2022 projects. Procurement activities from advertisement until recommendation of award to the HoPE shall be conducted in 2021 but issuance of award to the winning bidder(s) shall be done in 2022 upon the release of 2022 General Appropriations Act from DBM.	Account Name: Visayas State University Fund 164 Account Number: 3572-1000-13 Then send the deposit slip to jessamine.ecleo@vsu.edu.ph (Emphasis)
Section I. Invitation to Bid	
15. Sealing and Marking of Bids	(Additional Instructions)



Bidders are requested to submit three (3) copies of its bid – 1 Original, Copy 1, and Copy 2.

For filing purposes, the bidders are urged to use **Light Blue** envelopes for its Technical and Financial Component envelopes, including the Mother (outer) Envelope.

IV. Revised List of Goods and Technical Specifications

- Some Specifications were added (in red font) and/or deleted (in blue font)
- Some Quantities and Unit Prices (ABC) were changed

Item No.	Description	Unit	Qty	ABC/Unit	Total ABC
1	1/2" Air and Vacuum Relief Valve Male Thread	piece	1	25.00	25.00
2	3/4" NDJ Superflow Screen Filter 130 micron	piece	1	535.00	535.00
3	Abrasive Paper, Floor Sanding Sheet Grit #36	meter	5	350.00	1,750.00
	■Very Coarse, Sand Paper Abrasive, Premium Grade				
4	Abrasive Paper, Floor Sanding Sheet Grit #60	meter	5	300.00	1,500.00
	■Medium Coarse, Sand Paper Abrasive, Premium Grade				
5	Abrasive Paper, Floor Sanding Sheet Grit #80	meter	5	250.00	1,250.00
	■Medium Coarse, Sand Paper Abrasive, Premium Grade				
6	Abrasive Paper, Sand Paper Grit #120, 9" x 11"	sheet	62	18.00	1,116.00
	■Fine Sanding, Waterproof, Good Quality				
7	Abrasive Paper, Sandpaper, # 360	sheets	20	20.00	400.00
8	Abrasive Paper, Sandpaper, #1000	sheet	20	20.00	400.00
	■Super Fine, Premium Grade, Waterproof				
9	Acrylic Solvent-Based Putty	gals	10	530.00	5,300.00
	■for correction of minor surface imperfections				
10	Angle Bar, 1/4"(thickness) x 1-1/2" x 1-1/2" X 20 ', Standard	L	1	1,000.00	1,000.00
11	Ballast, Fluorescent, 40W	pcs	6	280.00	1,680.00
	© Good Quality				
	■Durable				
12	Barrel Bolt, 5/8"	pcs	30	100.00	3,000.00
13	Bitumen/Polyurethane(Water proofing) based membrane (liquid	pails	100	7,000.00	700,000.00



	type), 20kg per pail				
14	Blue Water Drum, 200L	unit	3	2,000.00	6,000.00
15	Bulb Socket, Porcelain	рс	4	120.00	480.00
	■at least 3 inches diameterStandard				
	sizeISO Certified and Good Quality				
16	Bulb Socket, PVC	рс	10	50.00	500.00
	■ Standard size,				
	⊚ round,				
	■ISO Certified and Good Quality				
17	Bulb, LED, 15W	pieces	135	300.00	40,500.00
	■Wattage: 15 Watts				
	© Lumens: 1521				
	■Color Temp. : Daylight				
	■ Beam Angle: 200 degrees				
	■Voltage: 170-240 V AC 50/60Hz				
	■Bulb Holder: E27				
	■Life Hours: 15,000 hrs.				
	■Material: PC cover & Aluminum PCB				
18	Bulb, LED, 20 Watts	рс	57	300.00	17,100.00
	■Up to 80% energy savings,				·
	■Eco-friendly,				
	No UV radiation,				
	No mercury,				
	■Wattage: 20 Watts,				
	©Color Temperature: 6500K,				
	Daylight Brightness: at least 1800 Lumens				
	■Base: E27,				
	■ Lifetime: at least 30,000 hours,				
	■Power Input: 220-240Vac, 50/60Hz				
19	Butane gas, 250gms,	can	2	90.00 / 110	180.00
	© Canister				
20	Cable Tie, 4" x 250mm, 100pcs/pack	pack	4	150.00	600.00
	■Nylon, 4x250mm				
21	Cement Steel Trowel, 14" x 4"	рс	15	600.00	9,000.00
22	Cement, (PVC) Solvent, 400cc/can	cans	8	250.00	2,000.00
	■Premium Quality				
23	Cement, Portland	bag	704	250.00	176,000.00
	Type 1P, Premium Quality	J			·
	■ASTM C150				
24	Claw Bar, 24" Length	piece	1	1,000.00	1,000.00
	Slotted Claw and Beveled Ends, High	1		,	,
	Carbon Steel, Good quality				
25	Compact Flourescent Lamp (CFL), 24W Spiral type	рс	20	175.00	3,500.00
26	Compression Fittings, (PE) End	piece	1	35.00	35.00



	Cap, 3/4"				
27	Compression Fittings, (PE) Equal Elbow, 3/4"	piece	2	95.00	190.00
28	Compression Fittings, (PE) Female Adapter, 3/4"	piece	1	48.00	48.00
29	Compression Fittings, (PE) Female Elbow, 3/4"	piece	1	65.00	65.00
30	Compression Fittings, (PE) Male Adapter, 3/4"	piece	1	48.00	48.00
31	Compression Fittings, (PE) Saddle Clamp, 3/4" x 1/2"	piece	1	160.00	160.00
32	Concrete Hollow Blocks (CHB), 4"	pieces	400	25.00	10,000.00
	■3-Cell Concrete Hollow Block 4"				
	■At least 350psi				
33	Cordless Hammer Drill Kit 18V	set	1	14,000.00	14,000.00
34- delet e	Compact and lightweight design				
35-					
delet					
е	All metal gear construction				
36- delet e	Capacity: Steel: at least 13 mm (1/2") /Wood: at least 36 mm (1-7/16") /Masonry: at least 13 mm (1/2")				
37- delet e	Impacts per minute (IPM):High: 0-19,500 / Low: 0-6,000				
38- delet e	No Load Speed (RPM):High: 0- 1,300 / Low: 0-400				
39- delet e	Max Fastening Torque:Hard / Soft: 42 / 27 N·m				
40- delet e	Max lock torque:38 N⋅m (340 in.lbs.)				
41- delet					
е	Net weight:1.7-2.0kg				
42- delet e	complete with necessary accessories				
43	Cut off Blade, 14" x 1/8" x 1", good quality	pcs	100	360.00	36,000.00
44	Cut-off disc 4", metal thin 1.0mm (100mm x 1.0mm x 16mm)	pcs	20	75.00	1,500.00
	⊚ EN 12413, TUV, GS				
45	Cutter blade 4" Masonry, wet & dry, Segmented	pcs	10	500.00	5,000.00
	⊚ EN12413, TUV, GS, CE				
46	Cutting Disc for Steel/Stainless, 4"	piece	36	100.00	3,600.00
47	Door Closer, Good Quality	set	3	2,500.00	7,500.00



	-M D M" W 050				
	■Max Door Width: 950mm,				
	■Max Door Weight: 60kg				
	■Arm Type: Adjustable(Standard)				
	■Operating Angle: 180 deg				
48	Door Knob	piece	11	1,000.00	11,000.00
	■Interior Type Cylindrical Door Knob Lockset				
	■Good Quality				
49	Double Swing Hinges, 3" x 3" Heavy Duty	pcs	15	300.00	4,500.00
50	Drum, Barrel Drum, Blue 200-220L capacity	drum	10	2,100.00	21,000.00
	⊚ HDPE				
	© Closed Head				
	■Good Quality				
	© Clean				
51	Electrical Tape (Rubber)	pcs	4	180.00	720.00
<u> </u>	■rubber, 0.8 x 19mm x 8m any color	700	•	. 55.55	. 20.00
52	Electrical Tape, Vinyl	rolls	21	70.00	1,470.00
52	■Flame retardant and compatible with	10113	21	70.00	1,470.00
	plastic cable and wire harness insulations				
	■Flexible PVC with aggressive rubber adhesive				
	■Primary electrical insulation for all wire and cable splices rated up to 600 volts.				
	■19mm x 16m x 0.155mm				
	■Heavy Duty				
	■ASTM approved				
53	Electrical Wire, THHN / THWN, AWG 12 (3.5mm2), Stranded, 150 meters/box	box	5	5,300.00	26,500.00
	■Building Wire				
	■Stranded with Nylon Insulation				
	■ Gauge 12				
	■ UL listed				
54	Electrical, (PVC) Orange, Flexible Hose, 1/2", 100 meters per roll	rolls	8	1,200.00	9,600.00
55	Electrode welding holder, 300 Amperes	pcs	10	500.00	5,000.00
	■Heavy duty spring jaws.				
	■Suitable for up to 300A				
	■High quality materials for both high conductivity and improved cable connection.				
56	Emergency Light, 2 x 3 Watts	pcs	2	2,500.00	5,000.00
	Good quality				
	Durable				
	Dome reflector for wider light distribution				



	Automotic Operation (turns on				
	Automatic Operation (turns on instantly when power is cut-off)				
	Equipped with Overcharging				
	protection				
	Fuse protected				
	Illuminates areas more than 1 lux				
	Light Source: 2x1W High Power SMT				
	LED				
	Battery: 4V 4.0Ah - 6V 4.5Ah Sealed Lead Acid				
	Charging Time: <20 hours				
	Performance Time:≤6 hours (at full charge)				
57	Epoxy, A & B (Liter/set)	set	2	350.00	700.00
	■All Purpose Structural Adhesive				
	■Premium Grade				
58	Evaporative Cooling Pad	pad	24	350.00	8,400.00
	Corrugated paper with the spatial crossing-link technology, ensuring high-absorb ability.	·			·
	2. high-water resistance, economic and durable.				
	3. low energy consumption, just one- tenth of traditional air conditioner.				
	4. environment-friendly.				
	5. Dimension: 1500*300*100mm				
	6. Color: brown, green				
	7. Good quality				
	Extension Cord Set with Individual				
59	Switch 5 Gang, at least 1.80 meter wire	pcs	2	700.00	1,400.00
60	Extension wire with 4 gang Universal Convenience Outlet, at least 10m long	рс	2	500.00	1,000.00
	■at least 10 amperes wire capacity				
61	Faucet, Brass Plated	piece	4	300.00	1,200.00
	■Sturdy and Durable				
	■Heavy Duty Hose bib: 1/2" Hose end: 3/4"				
62	Fire Extinguisher, HCFC-123, 10lbs (new)	units	6	7,000.00	42,000.00
	SAFETY EQUIPMENT AND DEVICES				
	Clean Agent				
	BPS Certified,			<u> </u>	
	HCFC-123,				
	with Free Wall Bracket,				
	BFP Approved				
	10lbs capacity tank				
	with pressure gauge				
	Nozzle and handle				
	1	l		1	



63	Fire Extinguisher, Refill (5kg or 11lbs)	tank	4	1,100.00	4,400.00
64	Floor Tiles, 0.30 x 0.30m, Unskid, Beige	pcs	2000	50.00	100,000.00
	■Good Quality				
65	Fluorescent Starter	piece	14	20.00	280.00
	■40 watts				
66	Fluorescent Tube, 36 watts with starter strip type	set	8	350.00	2,800.00
67	Fluorescent Tube, 40 watts	рс	3	150.00	450.00
68	Fluorescent Tube, 40 watts (48" length)	tubes	20	150.00	3,000.00
	■Light Color: White or Warm White				
	■Item Length: 48 inches (or 4 ft.)				
	■Durable				
69	Formica sheets, (White), 4' x 8', plain white	sheet	9	1,200.00	10,800.00
	■ Good Quality				
70	G.I. Tie Wire #16	kl	8	90.00	720.0
	■ Good Quality				
71	Galvanized welded wire mesh, gauge 16, 1 inch hole size, 4ftx30meters	roll	1	7,000.00	7,000.0
72	Galvanized welded wire mesh, gauge 16, 1/2 inch hole size, 4ftX at	roll	1	6,097.00	6,097.0
	least 20meters				
73	Garden Pruning Shear	piece	3	450.00	1,350.0
	■Hardened Stainless Steel blade				
	■Low-friction				
	■Heavy Duty, Good Quality				
74	Glass Cutter	piece	1	500.00	500.0
	Diamond Tip, Applicable for ceramic, glass and tiles, Durable and High quality				
75	Glass, Top, 1/4"(thickness) x 28" x 48"	piece	1	540.00	540.0
	■ Pre-cut				
76	Gloves, Utility, Medium	pair	3	150.00	450.0
	Medium size				
	Excellent quality				
77	Good Lumber, 1" x 1" x 12'	pieces	5	250.00	1,250.0
78	Good lumber, 2" x 3" x 10'	length	5	600.00	3,000.0
79	Good lumber, 2" x 4" x 8'	length	3	640.00	1,920.0
80	Good Lumber, 2"x 6" x 12'	length	103	1,400.00	144,200.0
81	Good lumber, 4" x 4" x 8'	length	5	1,280.00	6,400.0
82	Grinding Stone 4"	рс	24	200.00	4,800.0
83	Hacksaw Blade, 24 TPI x 12" Bi-metal, High-Speed, Durable,	piece	5	55.00	275.0
0.4	Premium Quality	n .c.	400	FF 00	F F00 0
84	Hacksaw Blade, 24 TPI x 12"	pcs	100	55.00	5,500.0



	Bi-metal, High-Speed, Durable,				
	Premium Quality				
85	Industrial Hand Gloves, Denim (maong type), Large	pair	5	25.00	125.00
	■ Good Quality				
86	Ladder, 4 step folding aluminum	unit	1	6,500.00	6,500.00
	■Multi-purpose extension ladders				
	■non slip handrail work platform tool 330lb				
	■heavy duty w/ hand grip				
87	Lavatory, Rectangular, complete with accessories	sets	20	6,000.00	120,000.00
	for counter				
88	LED Bulb, 13 watts, 87% Energy Saving	pcs	80	250.00	20,000.00
89	LED Bulb, 15 watts	pcs	10	300.00	3,000.00
90	LED Tube, 18 watts	sets	17	500.00	8,500.00
	Box Type Enclosure				
	At least 1,600 lm				
	At least 120 degree beam angle				
	Good quality				
	Durable				
91	Metal grinder disc 4", (4" x 6mm x 16mm) cup, longlife	pcs	10	100.00	1,000.00
	© EN 12413, TUV, GS, CE				
92	Multipurpose contact cleaner, 360ml	cans	10	300.00	3,000.00
93	Multi-Purpose Penetrating Oil, 382mL	btl	6	265.00	1,590.00
	Product Use:				
	Lubricant,				
	Penetrant,				
	Drives Out Moisture,				
	Removes and Protects Surfaces				
0.4	From Corrosion			75.00	205.00
94	Nails, Common Wire, 2"	kl	3	75.00	225.00
0.5	■Smooth Shank	1.1	0	70.00	040.00
95	Nails, Common Wire, 3"	kl	3	70.00	210.00
	■Smooth Shank			70.00	0.10.00
96	Nails, Common Wire, 4"	kl	3	70.00	210.00
07	■Smooth Shank			400.00	202.00
97	Nails, Roofing (Umbrella), 2"	kl	3	130.00	390.00
00	■Twist Shank		00	00.00	4 2000 00
98	Paint Brush, 2"	pcs	22	60.00	1,3260.00
	■Durable bristles				
	Heavy duty metal ferrules				
99	Paint Brush, Roller with tray, 1-1/4" x 4"	piece	6	100.00	600.00
	■Durable, Good Quality	<u></u>	_		
100	Paint Thinner	gallon	6	350.00	2,100.00



	■Premium Quality				
101	Paint Thinner, Lacquer	gallon	6	460.00	2,760.00
	■Premium Quality				
102	Paint, cementitous waterproofing	gallons	4	1,000.00	4,000.00
103	Paint, Flat wall Enamel, White	gallon	8	600.00	4,800.00
	■Premium Quality Paint				·
104	Paint, Latex, Glossy White	gallon	2	700.00	1,400.00
	■Premium Quality Paint				·
105	Paint, Latex, Semi Gloss, White	gals	55	650.00	35,750.00
	■Premium Quality Paint				·
106	Paint, Metal Primer, Red Oxide	gallon	156	450.00	70,200.00
	■Premium Quality				
107	Paint, Metal Primer, Red Oxide	liter	15	180.00	2,700.00
	■Rust inhibiting primer for steel and				
	iron surfacesPremium quality primer				
108	Paint, QDE, Black	quarts	6	220.00	1,320.00
	■Premium Quality Paint				
109	Paint, QDE, Black	gals	4	650.00	2,600.00
	■Premium Quality Paint				
110	Paint, QDE, Dark Blue	gals	5	650.00	3,250.00
	■ Premium Quality				
111	Paint, QDE, Gray	gallon	4	650.00	2,600.00
	■Premium Quality Paint				
112	Paint, QDE, Green	quarts	6	220.00	1,320.00
	■Premium Quality Paint				
113	Paint, QDE, White	gallon	2	720.00	1,440.00
	■Premium Quality Paint				
114	Paint, Red Oxide Primer	gallons	6	600.00	3,600.00
115	Paint, Roof, White	gals	400	800.00	320,000.00
	■Premium Quality Paint				
116	Paint, TTC, Cobalt Blue, Latex	Liter	12	500.00	6,000.00
	■ Premium Quality				
117	Paint, TTC, Hansha Yellow, Latex	Liter	2	500.00	1,000.00
	■ Premium Quality				
118	Paint, TTC, Lamp Black, Latex	can	2	120.00	240.00
	■Premium Quality, 0.25L per can				
119	Paint, TTC, Red Toloudine, Latex	Liter	2	500.00	1,000.00
	■Premium Quality				
120	Paint, TTC, Thalo Blue, Latex	Liter	8	500.00	4,000.00
	■ Premium Quality				
121	Paint, TTC, Thalo Green, Latex	Liter	8	500.00	4,000.00
	■ Premium Quality				
122	PE Tube for NFT, (Silicone Microtube) 1/4" x 10'	length	5	200.00	1,000.00
123	Pipe Fittings, (PE) coupling 1/2" (black)	pcs	10	100.00	1,000.00
124	Pipe Fittings, (PE) Elbow Reducer, 3/4"Ø x 1/2"Ø	рс	36	80.00	2,880.00
	<u> </u>	1	l	1	



	■ Good Quality				
125	Pipe Fittings, (PE) Elbow, 1/2"Ø	рс	24	100.00	2,400.00
	■ Good Quality				
126	Pipe Fittings, (PE) Tee Reducer, 3/4"Ø x 1/2"Ø	рс	36	175.00	6,300.00
	■Good Quality				
127	Pipe Fittings, (PE) Tee, 1/2"Ø	рс	36	100.00	3,600.00
	■Good Quality				
128	Pipe Fittings, (PVC) Ball Valve P, 1"Ø	рс	12	500.00	6,000.00
	■Good quality, Clean appearance				
129	Pipe Fittings, (PVC) Coupling, 1"Ø	рс	36	50.00	1,800.00
130	Pipe Fittings, (PVC) Coupling, 1/2"Ø	piece	41	20.00	820.00
	■Schedule 40, Good Quality				
131	Pipe Fittings, (PVC) Coupling, 3/4"Ø	рс	36	45.00	1,620.00
	■Good Quality				
132	Pipe Fittings, (PVC) Elbow, 1"Ø x 90 deg	рс	24	50.00	1,200.00
	■Good quality, Clean				
133	Pipe Fittings, (PVC) Elbow, 90 deg x 3/4"Ø	piece	36	58.00	2,088.00
	■Heavy Duty, Good Quality				
134	Pipe Fittings, (PVC) Socket Reducer, 1"Ø x 3/4"Ø	рс	36	50.00	1,800.00
135	Pipe Fittings, (PVC) Tee, 1"Ø	рс	36	50.00	1,800.00
	■Good Quality, Clean appearance, Water supply				
136	Pipe Fittings, (PVC) Tee, 1/2"Ø	piece	24	50.00	1,200.00
	■Heavy Duty, Good Quality				
137	Pipe Fittings, (PVC) Tee, 3/4"Ø	piece	24	70.00	1,680.00
	■Heavy Duty, Good Quality				
138	Pipe Fittings, (PVC) Union, 1"Ø	рс	36	65.00	2,340.00
	■Good Quality, Squeaky Clean				
139	Pipe Fittings, (PVC) Union, 1/2"Ø	piece	24	120.00	2,880.00
	■Heavy Duty, Good Quality			1.10.00	
140	Pipe Fittings, (PVC) Union, 3/4"Ø	piece	36	146.00	5,256.00
	■Heavy Duty, Good Quality	1 (1		4 000 00	0.000.00
141	Pipe, (G.I.), 1"Ø x 20'	length	3	1,200.00	3,600.00
4.40	Schedule 40, Good Quality	1- "		4 000 00	0.000.00
142	Pipe, (G.I.), 3/4"Ø x 20'	length	3	1,000.00	3,000.00
4.40	Schedule 40, Good Quality	1	40	200.00	0.000.00
143	Pipe, (PVC) Blue, 1" diameter	length	12	280.00	3,360.00
444	■standard length, good quality	1		05.00	F40.00
144	Pipe, (PVC) Blue, 1/2" x 20'	length	6	85.00	510.00
115	Sched 40, Durable, Good Quality	الم مراك	_	405.00	750.00
145	Pipe, (PVC) Blue, 3/4" x 20'	length	6	125.00	750.00
	■Sched 40, Durable, Good Quality				



146	Pipe, PE 80, 1/2" Ø, (100m/spool), Black	spool	2	1,800.00	3,600.00
147	Plywood, Marine, 1/4"(thickness) x 4' x 8'	piece	58	450.00	26,100.00
	■ Standard, Good Quality				
148	Plywood, Marine, 3/4"(thickness) x 4' x 8'	piece	56	1,300.00	72,800.00
	■ Standard, Good Quality				
149	Plywood, Ordinary, 1/8"(thickness) x 4' x 8'	piece	1	214.00	214.00
	■ Standard, Good Quality				
150	Plywood, Ordinary, 3/4"(thickness) x 4' x 8'	piece	5	880.00	4,400.00
	■Standard, Good Quality				
151	Pressure Washer Set (car wash)	unit	2	10,500.00	21,000.00
	Specification:				
	1.5hp Motor				
	Bell driven pump				
	298-498 psi				
	At least 14 liters/min suction				
	10m Discharge hose				
	2m suction and return hose				
	Spray gun with throttle control				
152	PVC Ball Valve with threaded, 3/4"	piece	1	190.00	190.00
153	Rainboots, Size: 10 (Men), Black	pair	1	450.00	450.00
	■Hi-cut, Seamless injection for good waterproofing, Premium Quality				
154	Rainboots, Size: 8 (Men), Black	pair	9	365.00	3,285.00
	■Hi-cut, Seamless injection for good waterproofing, Premium Quality				
155	Rainboots, Size: 9 (Men), Black	pair	3	400.00	1,200.00
	■Hi-cut, Seamless injection for good waterproofing, Premium Quality				
156	Raincoat, Jacket and Pants, Medium, Transparent	pair	3	350.00	1,050.00
	■Heavy Duty, Good Quality				
157	Raincoat, Poncho Type, Medium, Brown	piece	4	500.00	2,000.00
	■Heavy Duty, Good Quality				
158	Retractable Steel Tape, 10m	piece	1	450.00	450.00
	■ Good Quality, Rugged Rubber				
159	Roof Sealant, 250g	pack	75	150.00	11,250.00
	⊚ Pisil Pack				
160	Roof Sealant, All-Purpose, 1L/can	cans	2	540.00	1,080.00
	■ Premium Quality				
161	Rope,Nylon,, #10 (5mm)	meter	50	20.00	1,000.00
	■Twisted 3 Strand, Good Quality				
162	Safety Gloves, Cotton knitted with Latex Orange Coated Palm	pair	12	40.00	480.00
	■ Five fingers freedom, can satisfy				



	various movements and comfortable and flexible.				
	■Anti-skid				
	■Wear-resistant				
	■Oil resistant				
	©Corrosion resistant				
163	Screened Sand	cu.m.	28	1,500.00	42,000.00
164	Screw, for gypsum, (phillips head),	pcs	1500	2.00	3,000.00
165	Screw, Wood, Gauge 14 x 2 1/2"	piece	30	15.00	450.00
	■Cross head stainless steel, Self drilling wood screw	•			
166	Screw, Wood, Gauge 5 x 3/4"	piece	30	5.00	150.00
	■Cross head stainless steel, Self drilling wood screw	•			
167	Screwdriver, Flat Head (Slotted), 6"	piece	2	150.00	300.00
	■Heavy Duty, Cushion Grip, Durable, Good Quality	·			
168	Screwdriver, Flat Head (Slotted), 8"	piece	1	200.00	200.00
	■Heavy Duty, Cushion Grip, Durable, Good Quality				
169	Screwdriver, Philips(Cross Head), 8"	piece	1	200.00	200.00
	■Heavy Duty, Cushion Grip, Durable, Good Quality				
170	SDR 11, Black HDPE Pipe (1/2 in. Ø) x 100 meters	spool	2	1,800.00	3,600.00
	■ Good quality				
171	SDR 11, Black HDPE Pipe (3/4 in. Ø) x 100 meters	spool	2	3,000.00	6,000.00
	■ Good quality				
172	SDR 11, Black HDPE Pipe 25.4mm (1 in. Ø) x 100 meters	rolls	3	4,500.00	13,500.00
173	Sealant	tubes	10	200.00	2,000.00
	■all-purpose silicone sealant, tube				
174	Sharpening Stone, Silicon Carbide(Carborundum), 6", original	piece	11	220.00	2,420.00
	■Premium Grade, 6" x 2" x 1.2"				
175	Sheets, (G.I.) Corrugated, Gauge 26 (0.40mm) 4'-delete standard width x 10'	pcs	100	680.00	68,000.00
	■Standard, Good Quality				
176	Silicon lubricant, 360ml	cans	10	470.00	4,700.00
177	Skim Coat, 20kg/bag	bags	30	550.00	16,500.00
	■Good water vapor permeability				
	■Excellent bonding to concrete				
178	Soldering Paste	piece	6	200.00	1,200.00
179	Stand Fan, 405 mm diameter, 220 volts	unit	3	2,500.00	7,500.00
	■Durable High-performance motor				
	■3-speed push button switch				



			•		
	■Thermal fuse protection				
	■Oscillation				
	■ With height adjustment				
180	Steel Bar, Deformed	length	31	220.00	6,820.00
100	(Corrugated),10mm x 6m	lengui	31	220.00	0,020.00
	■ 0.616 kg/M PNS 230				
	■ASTM / Grade 33 Structural				
181	Steel Bar,	length	18	330.00	5,940.00
	Deformed(Corrugated),12mm x 6m	longar	10	000.00	
	■ASTM / Grade 33 Structural				
182	Steel Bar,	length	22	550.00	12,100.00
	Deformed(Corrugated),16mm x 6m				·
400	SASTM / Grade 33 Structural		00	50.00	4 000 00
183	Steel Brush	pcs	20	50.00	1,000.00
184	Steel Plate (G.I.), Gauge 18 (1.0mm) 4' x 8'	sheet	6	1,700.00	10,200.00
	■Standard, Good Quality				
185	Tape, double sided with foam, 20mm x 3m	rolls	20	150.00	3,000.00
	■White Double Sided Strong Sticky				
	Self Adhesive Foam Tape				
	■For indoor and outdoor use.				
	• Weather-resistant and highly conformable.				
	■Works on many surfaces including				
	metal, glass, and plastic				
	■Holds up to 10 lbs. One inch holds a				
	quarter-pound, four inches hold one pound.				
	■Can be used on a variety of				
	surfaces such as painted cement or				
	brick, glass, metal, tile, ceramic,				
	plastic, and more.				
	■Does not peel off on high humidity areas				
	■Industrial application				
	© OC compliant				
186	Teflon Tape, 1" x 10m	roll	12	50.00	600.00
187	Tile Adhesive, 25kg/bag	bags	100	350.00	35,000.00
188	Tile Cutter Disc, 4" dia.	pcs	50	500.00	25,000.00
	■Heavy Duty, Good Quality				
189	Tile Grout, 2kls/bag	bags	100	100.00	10,000.00
	■ Biege, Premium grade				
190	Tile Grout, White, 2kls/bag	bags	100	100.00	10,000.00
	■Premium Quality				
191	Tox #6	pcs	1500	1.00	1,500.00
192	Tox, 1"	box	6	130.00	780.00
192					
192	■1 inch lengthat least 100 pieces per box				



	■ Good Quality				
194	Varnish, plastic, natural	btl	4	80.00	320.00
	■375 cc per bottle, Premium Quality				
195	Wall Tiles, 0.30 x 0.30m, Unskid, Beige	pcs	3200	50.00	160,000.00
	■ Good Quality				
196	Water Closet, Two-Piece, Big, without Lavatory, complete with accessories	sets	30	10,500.00	315,000.00
	■ Good Quality				
197	Waterproofing fiber mesh, 1m x 50m	roll	25	2,400.00	60,000.00
198	Weighing Scale, Top Loading Dial Scale, (20 kg)	unit	1	2,460.00	2,460.00
	■Hi-strength flat plate top loading, Spring loaded Dial Scale, Durable, Good Quality				
199	Welding Rod, E-6011, 1/8"	kl	3	200.00	600.00
	■Premium Quality				
200	Welding Rod, E-6012, 5/32"	kl	60	200.00	12,000.00
	■Premium Quality				
201	Welding Rod, E-6013, 5/32"	kl	100	150.00	15,000.00
	■Premium Quality				
202	Windows (glass), (1/4" thickness) 3.60m x 1.60m Fixed Slide Aluminum with bronze glass, White	unit	4	13,500.00	54,000.00
	■Fane/bronze color GlassFixed and slide aluminum frame bronzeWith installation				
203	Windows, 1.20m x 1.60m Fixed Slide Aluminum with bronze glass, white, including installation	sets	1	5,000.00	5,000.00
				TOTAL:	3,344,347.00

Sgd.
DILBERTO O. FERRAREN
BAC Chairman